Bid #1701-001 - Annual Pricing for Concrete Repair and Paving Services

Creation Date Jan 27, 2017

End Date

Feb 23, 2017 3:00:00 PM CST

Start Date

Jan 31, 2017 1:47:41 PM CST

Awarded Date Not Yet Awarded

Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
npl construction co [Ad]	First Offer - \$13.00	500 / square foot	\$6,500.00		Ø	
		Supplier Product Code: Supplier Notes:				
crutchfield coring & concrete cutting inc.	First Offer - \$21.09	500 / square foot	\$10,545.00	1	Ú	
		Supplier Product Code: Supplier Notes: 11" concrete				

Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
npl construction co [Ad]	First Offer - \$12.00	500 / square foot	\$6,000.00		Ø	
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:				
crutchfield coring & concrete cutting inc.	First Offer - \$19.17	500 / square foot	\$9,585.00		Ø	
Agency Notes:		Supplier Product Code: Supplier Notes: 10" concrete				

Supplier	lier Unit Price Q		Total Price	Attch.	Docs	
npl construction co [Ad]	First Offer - \$11.75	500 / square foot	\$5,875.00		Û	
Product Code:		Supplier Product Code:				
		Supplier Notes:				
crutchfield coring & concrete cutting inc.	First Offer - \$17.50	500 / square foot	\$8,750.00		(j)	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes: 9" cond	rete			

1701-00101-04 UNDER 6 CUBIC YARDS PER P	ROJECT					
Supplier	Unit Price Qty		Total Price	Attch.	Docs	
npl construction co [Ad]	First Offer - \$11.50	500 / square foot	\$5,750.00	W 100 00 00 00 00 00 00 00 00 00 00 00 00	Ū	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
crutchfield coring & concrete cutting inc.	First Offer - \$16.01	500 / square foot	\$8,005.00		Ú	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				
ē.		8" concrete				

1701-00101-05 CURB AND GUTTER					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs

has the same of th		Supplier Product Code: Supplier Notes:				
npl construction co [Ad]	First Offer - \$37.50	500 / linear foot	\$18,750.00	(J		
		36.00 Linear foot 18" x	8"			
Agency Notes:		Supplier Notes:				
Product Code:		Supplier Product Cod	e:			
crutchfield coring & concrete cutting inc.	First Offer - \$36.00	500 / linear foot	\$18,000.00	Ú		

1701-00101-06 CURB AND GUTTER						
Supplier Unit Price C		Qty/Unit	Total Price	Attch.	Docs	
crutchfield coring & concrete cutting inc.	First Offer - \$37.00	500 / linear foot	\$18,500.00		Ð	
Agency Notes:		Supplier Product Code: Supplier Notes: 24" x 8" deep curb and gutter				
npl construction co [Ad]	First Offer - \$42.50	500 / linear foot	\$21,250.00		Ũ	
		Supplier Product Code: Supplier Notes:				

1701-00101-07 CURB AND GUTTER						
Supplier	lier Unit Price Q		Total Price	Attch.	Docs	
crutchfield coring & concrete cutting inc.	First Offer - \$37.00	500 / linear foot	\$18,500.00		Ø	
Product Code:		Supplier Product Cod	e:			
		Supplier Notes:				
		18" x 10" curb and gutt	er			
npl construction co [Ad]	First Offer - \$45.00	500 / linear foot	\$22,500.00		Ø	
Product Code:		Supplier Product Code:				
Agency Notes:		Supplier Notes:				

1701-00101-08 CURB AND GUTTER						
Supplier	Unit Price Q		Qty/Unit	Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.		First Offer - \$37.50	500 / linear foot	\$18,750.00		Ø
Product Code:		Supplier Product Cod	e:			
Agency Notes:		Supplier Notes:				
			24" x 10" curb and gutt	er		
npl construction co [Ad]		First Offer - \$50.00	500 / linear foot	\$25,000.00		(j
Product Code:		Supplier Product Code:				
Agency Notes:			Supplier Notes:			

1701-00101-09 SIDEWALK						
Supplier	r Unit Price Q		Total Price	Attch.	Docs	
crutchfield coring & concrete cutting inc.	First Offer - \$9.00	500 / square foot	\$4,500.00		(j	
		Supplier Product Code: Supplier Notes: 4" sidewalk				
npl construction co [Ad]	First Offer - \$11.00	500 / square foot	\$5,500.00	- Inches	0	
		Supplier Product Code: Supplier Notes:				

1701-001--01-10 HANDICAP RAMPS

Supplier Unit Price		Qty/Unit	Total Price	Attch.	Docs	
crutchfield coring & concrete cutting inc.	First Offer - \$25.00	500 / square foot	\$12,500.00		Ð.	
Agency Notes:		Supplier Product Code: Supplier Notes: ADA Ramps with Pavers				
npl construction co [Ad]	First Offer - \$35.00	500 / square foot	\$17,500.00		Ø	
201 202		Supplier Product Code: Supplier Notes:				

1701-00101-11 DRIVEWAY RESIDENTIAL						
Supplier	Unit Price Qt		Total Price	Attch.	Docs	
crutchfield coring & concrete cutting inc.	First Offer - \$9.00	500 / square foot	\$4,500.00		Ø	
		Supplier Product Code: Supplier Notes:				
npl construction co [Ad]	First Offer - \$10.50	500 / square foot	\$5,250.00		Ð	
		Supplier Product Code: Supplier Notes:				

1701-00101-12 DRIVEWAYS COMMERCIAL					
Supplier	Unit Price		Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$9.50	500 / square foot	\$4,750.00		(l)
		Supplier Product Code: Supplier Notes:			
npl construction co [Ad]	First Offer - \$13,50	500 / square foot	\$6,750.00		Ø
		Supplier Product Code: Supplier Notes:			

1701-00101-13 OVER 6 CUBIC YARDS PER PE	OJECT	-	· · · · · · · · · · · · · · · · · · ·		
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
npl construction co [Ad]	First Offer - \$13.00	500 / square foot	\$6,500.00		Ø
		Supplier Product Code: Supplier Notes:			
crutchfield coring & concrete cutting inc.	First Offer - \$19.00	500 / square foot	\$9,500.00		Ø
		Supplier Product Code: Supplier Notes:			

Supplier	Unit Price		Total Price	Attch.	Docs	
npl construction co [Ad]	First Offer - \$12.00	500 / square foot	\$6,000.00		Ú	
The state of the s		Supplier Product Code: Supplier Notes:				
crutchfield coring & concrete cutting inc.	First Offer - \$18.00	500 / square foot	\$9,000.00		Ú	
		Supplier Product Code: Supplier Notes:				

1701-00101-15 OVER 6 CUBIC YARDS PER PROJECT					
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
npl construction co [Ad]	First Offer - \$11.75	500 / square foot	\$5,875.00		J

Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		
crutchfield coring & concrete cutting inc.	First Offer - \$17.00	500 / square foot	\$8,500.00	l l
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:		

1701-00101-16 OVER 6 CUBIC YARDS PER PE	ROJECT			***************************************	
Supplier	Unit Price		Total Price	Attch.	Docs
npl construction co [Ad]	First Offer - \$11.50	500 / square foot	\$5,750.00		Ú
		Supplier Product Code: Supplier Notes:			
crutchfield coring & concrete cutting inc.	First Offer - \$16.00	500 / square foot	\$8,000.00		Ø
		Supplier Product Code: Supplier Notes:			

Supplier	olier Unit Price		Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$37.00		\$18,500.00	Atten.	. Docs
		Supplier Product Code: Supplier Notes:			
npl construction co [Ad]	First Offer - \$45.00	500 / linear foot	\$22,500.00		Ű
		Supplier Product Code: Supplier Notes:			

1701-00101-18 CURB AND GUTTER OVER 6 C	UBIC YARDS PER PROJECT				
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$37.00	500 / linear foot	\$18,500.00		Ø
		Supplier Product Code: Supplier Notes:			
npl construction co [Ad]	First Offer - \$45.00	500 / linear foot	\$22,500.00		Ű
		Supplier Product Code: Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$37.50	500 / linear foot	\$18,750.00		Ø
		Supplier Product Code: Supplier Notes:			
npl construction co [Ad]	First Offer - \$55.00	500 / linear foot	\$27,500.00		Ú
		Supplier Product Code: Supplier Notes:			

1701-00101-20 SIDEWALK OVER 6 YARDS PE	R CUBIC YARD PER PROJECT	•			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$8.75	500 / square foot	\$4,375.00		Ú
Product Code: Agency Notes:		Supplier Product Code: Supplier Notes:			
npl construction co [Ad]	First Offer - \$11.00	500 / square foot	\$5,500.00		(j

Product Code:	Supplier Product Code:
Agency Notes:	Supplier Notes:

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$8.50	500 / square foot	\$4,250.00		Ú)
		Supplier Product Code: Supplier Notes:			
npl construction co [Ad]	First Offer - \$11.00	500 / square foot	\$5,500.00		Ø
		Supplier Product Code: Supplier Notes:			

Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$9.50	500 / square foot	\$4,750.00		Ø
Product Code: Agency Notes:		Supplier Product Code Supplier Notes:		\$	
npl construction co [Ad]	First Offer - \$12.50	500 / square foot	\$6,250.00		(I)
		Supplier Product Code: Supplier Notes:			

		Y			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
npl construction co [Ad]	First Offer - \$35.00	500 / cubic yard	\$17,500.00		Ø
Product Code:		Supplier Product Cod	e.		
		pubbile:	·.		
Agency Notes:		Supplier Notes: The p		s measure	d at the
Agency Notes:			rice we submitted is	s measure	d at the
Agency Notes: crutchfield coring & concrete cutting inc.		Supplier Notes: The plin. ft not the cubic yard	rice we submitted is	s measure	d at the
	First Offer - \$36.00	Supplier Notes: The plin. ft not the cubic yard	rice we submitted is d \$18,000.00	s measure	d at the

1701-00101-24 HANDICAP RAMPS OVER 6 C	ODIC IARDS	,			
Supplier	Unit Price	Qty/Unit	Total Price	Attch.	Docs
crutchfield coring & concrete cutting inc.	First Offer - \$20.00	500 / cubic yard	\$10,000.00	10000a01a00a0	<u>(j)</u>
Product Code:		Supplier Product Cod	e:		
Agency Notes:		Supplier Notes:			
npl construction co [Ad]	First Offer - \$30.00	500 / cubic yard	\$15,000.00		Ø
Product Code:		Supplier Product Cod	e:		
gency Notes:		Supplier Notes:			
		The price we submitted is measured at the Sq. ft not the			the
		cubic yard			

Supplier Totals

f crutchfield coring & concrete cutting inc.

Bid Contact mark crutchfield mscrutchfield@att.net Ph 817-477-5807

\$269,010.00 (24/24 items)
Address 816 spring miller ct
arlington, TX 76002

Agency Notes:	Supplier Notes:	Head Attch: ∬	
f npl construction co [Ad]	\$293,000.00 (24/24 iter	ns)	
Bid Contact larry j harrington cmertes@goNpl.com Ph 972-278-3229	Address 2638 Oakland Ave Garland, TX 75041		
Agency Notes:	Supplier Notes:	Head Attch:	

Print

Close

^{**}All bids/proposals submitted for the designated project are reflected on this tabulation sheet. However, the listing of the bid/proposal on this tabulation sheet shall not be construed as a comment on the responsiveness of such bid/proposal or as any indication that the agency accepts such bid/proposal as being responsive. The agency will make a determination as to the responsiveness of the vendor responses submitted based upon compliance with all applicable laws, purchasing guidelines and project documents, including but not limited to the project specifications and contract documents. The agency will notify the successful vendor upon award of the contract and, as according to the law, all bid/proposal responses received may be available for inspection at that time.